= B Ot B B

(BiA] (Bfi: M)

AR )Yy 7 ARR - BE B A2 1A 1A £ SM24EI12H31A
AT
[ZHa%]
EBs ISt 100, 000
TAY— | « R— F—2% 803, 000 903, 000
[ZHEfT 4]
U4 919, 000
[ =i is]
ZHC FLE 5
MO 2R 10, 000 10, 005
A 1, 832, 005
[#wEA]
[F#]
(ANH-%)
INGE & 0
(F Dfthpetr)
ZARE—=Y FL—= I 181, 417
AR—Y REE 116, 116
AR—Y REIREE 258, 670
FEE B 15, 890
O 572, 093
L 572, 093
[EHz]
(ANH-%)
INGE & 0
(F Dfthpetr)
= B 217, 560
5 E R 379, 974
HEEm # 42,411
oo R 240, 000
RSB 43, 065
E N < ¢ 5, 000
B AFR 1, 000
AR 27, 000
O 766, 010
HE BE 240, 000
T 1, 006, 010
REEH 1,578, 103
L HAAR R 253, 902
[w k]
BEIMNEE B 0
[&w o2 A
wEER g 0
05 | AT 24 1 1 e B LA AR 253, 902
1 TE B A P TR 253, 902
AT IE e B pE R A 856, 153

VR AR 1 R BA pE AR A 602,251




